ABA13EY [ EHMEFFETF 2R EFREFEEIRFEFAAI-FT
BRE > g R 3B % =X > 3
UYL 13 3¢ 94 502 % pod 3N - £ 27.83
& o MF % BV 94 508 pd N 5= 2 31.74
& e L B E AR ER 502 ¢ pd 5 ¥= ¢ 34.82
PR T BV 94 50 % pod 3N yr £ 40.31
T M | 3¢ FdE 502 ¢ f o 3¢ It 46.00
Y A ¥ BV 94 50X % pod 3% Gl & A 50.94
U L 1% 3P 94 1002 & f d 3N - % 1:00.25
Y TR BV 74 1002 % B d ;¢ 5= ¢ 1:15.07
& v B 5w 3P 748 1002 & f d ;¢ B 1:26.65
& v 9% B¢ 94 1002 & f d ;¢ o kAL 1:27.68
EFEYXE i 2 B¢ 94 2002 ¢ j d ;N S EHEP 2:06.38
| AHB3* 4 & R 4002 % f d 5 o oA 4:25.96
BYXh t HR BP 74 | AxI002 % pod N4 ol kAL 3:58.57
BYXh i R 3P 74 | AxI002 % pod N4 S EHEP 3:58.57
BYEE &3 BP F 4 | 4xI002 % pd N4 = FEA 3:58.57
| AB3 il 2 3P 74 | AxI002 % pod N4 S EHEP 3:58.57
EFEYXE t R B 74 | Ax2002 % pod N4 o kAL 8:29.35
UYL 4 & BP9 4 | 4x2002 % pod NS o A 8:29.35
AR %3 s B¢ 94 | 4x20020 % pod N4 *HEEP 8:29.35
AR 3 il 2 BP9 4 | 4x2000 % pod i S kAL 8:29.35
VR Eile |32 94 % 502 ' g3t SHEM 32.83
UYL %3 3¢ 94 1002 & ;¢ o A 1:16.19
UYL t G 3¢ 94 2002 ® g0 S kAL 2:44.36
U 143 v 94k 502 ® i3t =R 29.44
A3 il 2 3¢ 94 1002 © 3¢ o A 1:03.31
UYL i 2 3¢ 94 2002 & i3t o A 2:20.02
UYL tgm | 3P 948 502 & ¥t ¥- & 31.13
4 e B 5 R ) 502 & 3l - % 42.61
AT | 13 | ¢ g 502 & st a4 55.72
AV t BB 3r 94 1002 & f#rst *HEP 1:14.33
'YL Hd R Bv 94w 2002 ® ey ol kAL 2:34.57
AHB3 t G 3¢ 948 2002 © R & ;0 T HEEM 2:29.72
X A H3e | 3¢ 34 4002 = R & 5% = REP 4:52.06
3 ARR

AED 11387 [ FMEFHFEFEL2HNY LFERIAFEFTRFFAEI -3+ 8

FRrE ¥ )| P % =% = 5

e diadhd o B = AR A A 502 ' pd 3N - 2 57.91
AR 4t 7 Be L4 4002 ¢ pd N A 5:16.43
AR 4t 7 Be L4 502 @ st X g EP 37.27
Ak et 7 e A 502 & 3% A 39.65

E S R




AED11387° [ EMLFHFETFE 2R CERIAFEEXRFHATIRNT &

ErEer | ¥ & P %P 2 = & 5
bl A A Re 74 502 ' pd N - 2 30.62
ek 8. LR He 94 % 50 % pd 3N $- 2z 31.39
bl i el e 748 50 ¢ pod N 5= 2 34.61
kel A ER S Y 52 508 pd N Y 2 36.26
viERe I E ] ®*e 74 % 508 pd N iz 44.28
Nl v 3 1E e 53 % 502 % pd 3N ¥ L 45.52
- /.=-_ ‘J 9

) 'ﬁg) Pl wge |Rrz22| 1002545 $- ¢ 1:09.75

13

e AL &R Y 74 1002 % B d ;¢ $:- 2 1:18.49
= ¥ BB e 7458 1002 % B d ;¢ $= 2 1:24.38
LR PRI R 548 1002 8 f d ;¢ S 2 1:26.75
= ¥ 44 e 7458 1002 % B d ;¢ iz 1:27.65
= el R 548 1002 8 f d ;¢ A 1:31.69
LK ¥R 15 AY 74% 2002 8 f o N - 7 2:24.93
EREY &R A*e 745 2002 € B od N kA 2:59.80
&R ¥ 7k R 54 4002 & f d 3N ol EoAi 4:44.03
ER A & =8 AY 74% 8002 & f d N S R A 16:18.71
2R AP thig ¥ ¥ 94 % | 4x1002% p d 44 $-z 5:17.45
2R AP =8 ¥ 94 % | 4x1002% p d 44 $-z 5:17.45
2R AP 7 =k ¥ 94 % | 4x1002% p d 44 5- 2 5:17.45
2R AP Mm% % P 94 % | 4x1002 % p d 44 - 2 5:17.45
- /_:). - d

’(E;]",,rig) ERg | WY 94% | 4x1002 % pd N8 =K i 5:46.52
- /_:). - d

TR | EER | WP 2| 4002 pd RS | SgEe 5:46.52
- /_:). - d

’(E;,",,rig) %3 | MY 74 | 4xI002 % fd NS SR 5:46.52
- /_:). - d

e | WEY | RV 72| 4qacpdfrd | sgme 5:46.52
;$ ‘J

. ’in) B s | RP 922 502 © g5 ¥- & 41.41
-3

- "ﬁa) (R -y 2N e 94 % 502 ® g 3¢ = 2 41.81
ksl ki FY 2 He 94 % 502 ' g0 =z 43.68
-3

- "’ﬁm) (¥ R He 94 % 502 & 3358 $r 2z 46.53
kil #1128 | WY I4E 502 € g5 iz 47.78
akadl o A e B §4E 502 ® gf 3% S EEP 48.39
;$ ‘;

= ’ﬁ,‘) (¥ PR He 94 % 1002 ® gt - 2 1:35.85
ksl A 32 Ry 94 % 1002 & 30 $- 2z 1:36.18
-2 R

- "’iﬁ) # srg |mrize 1002 ® 35 ¥z % 1:38.09
ek N Eics A*Y 948 1002 & g 8 ¥r 2 1:48.12
i g AR Y 94 % 1002 & g 50 ¥z 1:51.47
akadl A B4 B B §2E 1002 ® 3453 $HEP 1:51.69
-3

- ""i,s) (# o 2 Y 94 %8 2002 & i ;0 ¥- % 3:49.28
ERRE %=y R 948 2002 & 35N NP 3:55.30




¢ 2%) ®Em |RAY T2 2002 & g0 A 4:02.93
ZR R that & A*e 94 502 ' i ¥- 2z 33.16
ek 8. Mm% % A*e 94 LIPS 2 -z 34.63
gl - 3 oo B e ] N . N

SAME N ERNIE LR Fe 502 ¢ i3t & P 35.71
R (A T Y 94 % LIPS 2 S gEP 46.53

? %TS) 1=} — e % .
2 &R Pkt | WY Fde 1002 ® g5t - % 1:11.14
ki N HheX | WY I3 1002 & st + 3 38 P 1:11.98
-3¢

- IPdFirs) (8 w3 AY 92 % 1002 = g5 Bap 2:17.59
&R 3K He 94 %8 2002 = ;N -2 2:37.06
kN HheX | WY I 2002 & st + 3 38 P 2:42.60
-

‘(E;"din) nEd | WY IiE 502 @ fr st $- % 35.99

K3 (R
- "fm) B sy | RP728 502 & frss = & 40.93
ksl A 344 e 74 502 ' sk =% 45.29
¢t e A ] AY 94 % 5O ' M X EmE 1:09.67
Y0 ¥ RE e 948 1002 & 3N ¥- 2 1:22.61
ek A ¥ eR A*® 54 1002 & tr38 X gmp 1:35.33
= 7 ¢ 345 e 948 1002 & M gh A 1:38.72
Y ¥ rE AY 948 2002 w B & SN ¥- 2 2:37.19
ek 80 mE % e 948 2002 & R & 5N X HEP 2:38.98
a1k MRS AY 948 2002 e B & SN X EEp 3:47.87
ek 80 LR Y 74 % | 4x1002 2 ;R & N34 ¥- =z 5:53.53
e N ¥ 2k ¥ 948 | 4xXI002 2R & N84 ¥- ¢ 5:53.53
ek 80 & =8 Y 74 % | 4x1002 2 ;R & N34 ¥- =z 5:53.53
ERRE that ¥ ¥ 948 | 4xXI002> 22 & N84 ¥- ¢ 5:53.53

BE | EEET
HE BT

FH ZESTEFE)
BE ¢ BRERE T (B E)




AXB3 11387 | &5

?

>

e

FRE =

e

]
L

3B

2AY REREIFEERFHATP-R+ &

oy

THER

HiE

T

ki

502 € pod 50

29.18

é;;:%ﬁ]ﬂ

Eeu

T

ki

50 % pod 3t

38.40

&8R-

s ek 1

T

ki

502 ¢ pd

41.78

YL

1€

159 [[FS) (1099 [1¥S

i

2002 & p oo 3V

R RN A 2N

3.44.63

R3Y(R

¢ IR)

1% 174

O Y O

&
L

ki

502 ® 330

Lk

52.68

ZRBY(R

¢ 2R)

it

s
S
i‘.;ﬁu

1002 & 34 3¢

1:56.96

RFY(R

¥ 2m)

it

fa

2002 & &3¢

4:03.07

R AR

1% b

502 & g3t

32.33

éi;%ﬁ]t’

Ee 8

502 & ghsl

43.77

FEEIC
v %’K)

s

502 & g3t

1:01.19

f AR

% b

502 & 3t

36.35

& B

o ek 1

50 & 3l

46.60

&8R-

f

502 & 3t

58.62

YL

1E€%

1002 ® #p 3%

2.02.59

HE : (RET

TRE R T (B TED)

FE  ZREET
B BT




